EARAROBEEIERT — 2 N— IBISH —F

20145128298 (B) 22EEME1H

KM C3— C3— #5%3mLtL ECEE R
[A&4£] 1% :200,000" ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43&:10,000 57 :6,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . K B ABR 128. -1-1- . — FAFIERS (FEiH)
l7lg| 7rav T B4 i 1(2_8)5 1-1-1-1 | 38.8 2 <4+569) ujx%m
L:IF7IN—FK B:¥ty hR=Z— KE HME
. . BIE— . == = b
2 2| Vv /T 4 3 QfoIE 1.(259).3 2222 |39.3 4 f; g;ﬁf (@)
gL LINT Ry IR BISLAT RS S e
S i3 | AR 1:29.3 5-3-3-2 [39.3| — 1 430 | E)IKEA (ER)
3 3|77v7Fa3 54.0 (NF) -2) (E)Es)w,ﬁfA
R:TT TR B — hRLD—Y BT UL ¢
= — 4 5 | BAREE 1:30.3 4-5-4-4 | 40.0 | — 6 490 | /MIEA (EE)
4 6 778=71Y—= 54.0 (6) (<) | ) Fr—RbEYVa>
R:aAFS 0 ML B R HAIN— hF— FHRE®S
# o3 | EHEE 1:30.6 6-66-6 [39.6| — | 5 | 428 |AEE= (HEH)
5\7|7|TF)7 6.0 (1172 (7 | MES
L:ZFAT—IK B:Yav/nNey— e
. i — :30. 88— . - AR (EH)
6l1l1|7z7-v—%5— 4 3 e 1(13/02)7 8-8-8-7 |39.0 9 (4_(;0) RS
Lyrh—r BIVIATA—FHLFIX MEE
Mz . 45 _ mEH— (FE)
715|5 T RLTqF— i 6 54.0_7_ 1('33/%8 S455 1403 s lzg? KHFRET]
Ry TELRYF— BT NLFIAY— KIFHIS
= - 4 3 | EmANE 1:31.1 10-10-9-9 | 39.0 | — 8 459 | BHE= (EMR)
sl 4| YVATTT=— 0 (11/2) (10) | ) 2O
L:7A7% B:xYITIN—-+ M7 7 — L4
P = 44 | MU 1:31.2 7-7-7-7 | 40.0| — 10 | 420 |3RFFAEC (FEhR)
9|8[10| 777 =T 1= £62.0 3/4) Co | (@) PN
R:TI9784 K B:IZARNAT Yy ek B—
P o TIRE M :31. -9-10- . — iOEE (FEh)
olglg|Hya—d—wr H 6 i 1(341)8 9-9-10-10 | 39.3 7 (i:g) L
v NnNyahTz BR-—F2140 AH EE
® 1—F—@EBIERL
1T=7r= 8,2,5,6,3,7,10,1,9,4
23— — 8,2,3,5,6,7,10,1,9,4
Ja=5= 8,2,3,6,5,7,10,1,4,9
43—+ — 8,(2,3),6,5,7,(1,10),4,9
[ N5
B 8 310H 714K 2-8 380M e E 2-7 1,1408 JEE 2-3-8 1,060
B B 8 1204 3-8 230M B = 2-8 1,300 EE 8-2-3 6,870
2 1609 2-3 380M B H 8-2 2,100M
8 110

ABICOVWTRDTEEERROODE. TR LIV,




